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Preliminary clcnicnH ..f tiic nrl.it wciv ol.laiiuMJ l.y the a|.i>lH'iitioii of

Dr. Kiiin'.s firupliicul iiicllinil. 'Vhr>v wrrc.

/' = 17 "(ir;; days

r = ().-)

0, =i,s(r

A' =2() km.

7 = -29-70 km.

T =2.t2().024 .S.SI ,1. I).

A l(.aM-s(|uarcs solution was caiTicd through to iinprov.', if possihlo,

the elements ol.tained >ira|.lucally . The i-eriod. obtained l.y usinfi I-ick

ol.servati(.ns in eo.ir etion with (.ur <.wii, eoverinn an ei.(.eh of .VM cycle.s

was coiLsidercd as tixed. In tlie solution, T was also left out on account

of tlie eccentricity hoinp .so small, and c, oj, K and 7 used.


